November 21, 2024 Math F251X: Quiz 10

Name: Sblw‘\‘ibns /25

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.

1. [4 points] Find the derivatives of the following functions.

a. G(x)=/3x\/6+5t3dt , a () =1/Z+5><3

o )= [Tseos(Nar 5 R 6= Scos C@ (5»5’)

2. [8 points] Evaluate the definite integrals below. Simplify your answer. 2.

2
a [P—t)a = 2 3 -1 3__\ 7
froeie= (6% i = L 3o

- 8 _-4
(ys-i)ee - g-u-o
44 9 i
b./l)?+3\/)_c+ldx:.§<l.{ x—1+5x2'4—)>cjx
1
- 2 4
= -Ux +3(23>x2 +X 1("2-4—2(8)*"/)—'(—"/42*})

= (s 4t Y -2-1)= 20
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3. [9 points] Evaluate the integrals below.

3 ;1
a. /sin(x) (cos(x))dx = -~ g W du = ’-q w +0C

let w= CoSC%)
du = -smGA) elX

- dwn = S\hba dx

\

4
’/Lli CCDSC?(» +C

3
2+m@)? ,  _ L,oo_ 1 "
[ = (s vl
let w= 2+41InX «,,‘3<2+ )rx(ﬂ) +C
O\U\.:-Lxdx

led n=x + _ . xXHI
du=2xdx 2. <
Loy
7 du= X dx

X
4. [4 points] Use the graph of f(x) (below) to answer questions about A(x) = / f(t)dr.
-3
a A(—1)=_I

b. A(5)=_1_

d. On the interval [—3,5], where does A(x)
have a maximum?

Maximum at x = i
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